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1. Kputepuu u cpeacTsa olleHMBaHUS KOMIIETCHIINH M HHAUKATOPOB X JOCTH:KeHHUs1, POPMHUPYeMBbIX THCHUILIHHON (MOayIemM)

Kon 1 Pe3yabTaThl 00y4eHHs 10 JUCHHUILINHE (MOIYJIIO) O1ueHoYHEbIE Ouenoumbe
Kon u HauMeHoOBaHMe HHANKATOPA(0B) 10CTUKEHUSI cpeacTBa
HaNMeHOBaHHe cpeacTBa
KOMIeTeHIIMH TeKyIIero .
KOMIeTeHIIN U MPOMEKYTOYHOI
3nameo Ymems Bnaoemo KOHTPOJIst
aTTecTallU
YK-4 NI-1yk-4 TEMAaTHYECKUH paboTats ¢ HaBBIKAMH
Crnocoben Hcnonpzyer pasnuuHble (OpMBI, BHIbl YCTHOH M | ClIOBaph; OCHOBBI JIeNIOBOM paboTsI ¢
OCYHICCTBIIATD TTHCHMEHHOH AENOBOH KOMMYHHKaLHH Ha | opranusanuu AeJ0BOM | JOKyMEHTAnued | menoBoi
CIIOBYIO 7| 7|
pit y roCyapCcTBEHHOM si3bIke Poccuiickoit deneparmu KOMMyHUKALIHH Ha Ha A3BIKE, KOPPECTIOHCHITH
KOMMYHUKAIIHIO B UJI-2 yK-4 . .
. AHTIINICKOM SI3BIKE; BKJTIOYAst TAaKHE eil; HaBbIKaMH
YCTHOU 1 OcymiecTBisieT KOMMYHHKAIIMIO, OCHOBBIBAsICH Ha o o
i OCHOBHBIE (hOPMBI OpPMBI KaK TIPOBEJCHUS
NHCBMEHHOI OpMax | cpcreme HOPM H3y4aeMOTO0 HHOCTPAHHOTO S3BIKA, N p p posel
Ha TOCY/IAPCTBEHHOM | ycrioyb3ysl KOMMYHHMKATHBHO TpHEMJIEMbI cTuip B | ACTOBOH pestome, Gn3Hec- | JIMHIBOCTHINCTHY
s13bIKe Poccuiickoit COOTBETCTBHUH C LIEJIBIO U CI/ITyaHI/Ieﬁ 06HICHI/I$I JOKYMCHTAallUU Ha IJIaH, ACJI0Bast €CKOI'0O aHaJIn3a
Denepanuu u NJI-3 vk-4 AHTJIMHCKOM SI3BIKE U Ipe3eHTaIus, JIJIOBOI'0 TEKCTa
MHOCTPAHHOM(BIX) BeimonHser A JIMYHBIX  HENEd  TEPEBOX | CrOCOObI ee BEICHUS JIEJIOBOE TTHCHMO;
A3pIKe(ax) ouManbHEIX W MPO(GECCHOHATBHBIX TEKCTOB ¢ paboTaTh co - THIIOBBIC
WHOCTPaHHOTO A3bIKA HA PYCCKHH, C PyCCKOTO SI3bIKA CoBapsMH, 3aaHus s
Ha WHOCTPAHHbIH S — BBINOJIHEHHS
YK-5 Na-1vk-s [PAKTHYECKUX Pabota Ha 3aHATHAX
U IPYTHMHA )
Crniocoben AHanu3upyeT ¥ HMHTEPIPETUPYET MEXKYJIbTYpHOE Py pabor; Tecr
BOCTIPMHMMATh pa3HOO6Gpa3ue COBPEMEHHOTO OOIIECTBA HA OCHOBE CHpaBOYHBIMA - TECTOBBIE
MEXKKYIbTypHOC 3HAHUSI UCTOPUHN MaTepHaIaMH 3aJIaHus;
pasHoobpasue NJI-2vK-5 TEeMaTHYECKOH
obuiecTsa B Y4YuThIBaCT MPHU COIMATIBHOM U MPOQPECCHOHATHLHOM HaIpaBJIEHHOCTH
ConHuaIbHO- obuieHnn HCTOPHUYECKOE HacJeaue u
HCTOPUYICCKOM, COLMOKYJIBTYPHBIE TPAJAHULUH PA3IIUMYHBIX COLUAIBHBIX
ITHIECKOM U TpymI, 3THOCOB W KoOH(eccHif, BKJIIOYas MHPOBBIC
unocoderom penurud, GuococKue U STHICCKUC YICHUST
KOHTCKCTax I/IH_3YK_5
[punepxuBaercs TIPUHITUIIOB

HEUCKPUMHUHAIIMOHHOTO B3aMMOJICHCTBHS B MPOIIECCe
KOMMYHUKAIHH B LEesxX BBIIOJIHEHUS
Mpo(eCCHOHANBHBIX 3aad W YCHJICHHS COIMAIHHOM
HHTErpaluu




2. OueHka ypoBHA C()OPMHUPOBAHHOCTH KOMIIeTeHIUIT (MHAMKATOPOB UX JOCTHKEHHS)

Iloxazarenn IIIkaa 1 KPUTEPHUH OLCHKH YPOBHSA C(hOPMHPOBAHHOCTH KOMIETECHIMIT (MHAMKATOPOB MX JOCTHKEHUS)
OUCHHBANMI Hwuxe moporosoro Iloporossrit IIpoaBuHyTHI Boicoxnii
KOMIeTeHI Ui
(«HeyOosemsopumenbHo») («yoosnemsopumenvroy) («xopouioy) («omauunoy)
(MHAUKATOpPOB
X JOCTHKEHNS)
IoanoTa YpoBeHb 3HaHUI HUXKE MuHNMaabHO TOMYCTUMBINA YPOBEHB YpoBeHs 3HaHHI B 00bEME, YpoBeHb 3HaHHH B 00bEME,
3HAHHUM MHUHHAMAJIbHBIX TPeOOBaHUI. 3HaHUIL. COOTBETCTBYIOLIEM IPOTPaMMe COOTBETCTBYIOLIEM MPOTrpaMMe
Nmenu mecto rpyObie OMINOKH. Jony1ieHs! He rpyOble OMMOKH. MOJTOTOBKH. MTOJITOTOBKH.
Jlony1eHsl HeKOTOpbIe MOTPEUTHOCTH.
Haauune IIpu BEINOIHEHUN CTaHIAPTHBIX IIponeMoHCTpHPOBaHBI OCHOBHEIE IIponemMoHcTpHpOBaHEI Bce OCHOBHBIE | IIpoaeMOHCTPHPOBaHBI BCE OCHOBHBIE
YMEHUH 3a[JaHUid HE TPOAEMOHCTPUPOBAHBI | YMEHHS. YMEHUSL. YMEHHUSL.
OCHOBHBIE YMEHUSI. BrInonHeHs! TUIIOBBIE 331aHUS C HE BeInonHeHsI Bce OCHOBHBIE 3a1aHUS ¢ | BBINOIHEHBI BCE OCHOBHBIE U
Nmenu mecTo rpyObIe OMMOKH. rpyOBIMH OLIMOKaMHU. HEKOTOPBIMH NOTPEHIHOCTSAMH. JOTIOJTHUTENbHBIC 3aJaHus 0e3 OINOOK 1
BrinonHeHs! Bce 3a/1aHusl, HO HE B BrInonHeHs! Bce 3a1aHMsI B TOJTHOM MOTPELIHOCTEH.
MOJIHOM 00beMe (OTCYTCTBYIOT 00bEMe, HO HEKOTOPBIE C HeIoUueTaMH. | 3aJaHusl BHIITOJIHEHBI B TOJTHOM 00beMe
MOSICHEHMsI, HETIOJIHBIE BBIBOJIBI) 0e3 HeJI0UETOB.
Hannune IIpu BBINOJIIHEHNU CTaHIAPTHBIX Hwmeercs MUHUMAaNBHBINH HAOOP IIponemoHcTpHpOBaHBI 6a30BBIE IIpoieMOHCTPUPOBAHBI BCE OCHOBHBIE
HABBIKOB 3a[JlaHii HE TPOAEMOHCTPUPOBAHBl | HABBIKOB JUIS BBIITOIHEHHS HABBIKH [TPH BBINTOJIHEHUH YMEHHSI.

(BJ1aieHHE ONBITOM)

0a30BbIe HABBIKH.
Nmenu mecto TpyObIe OMMOKH.

CTaHAAPTHBIX 33laHUH C HEKOTOPBIMHU
HEI04YETaMH.

CTaHJAPTHBIX 3aJaHUH C HEKOTOPHIMHU
HEJI0YETaMH.

BrimoHeHBI Bce OCHOBHBIE T
JIOTIOJTHUTENBHBIE 3aJaHus Oe3 OIMO0K 1
MOTPEIIHOCTEM.

IIponeMoHCTpUpPOBAH TBOPUYECKUI
MOJIXO/ K PELICHNIO HECTaHAAPTHBIX
3a1au.

XapakTepucTUKa
copmupoBaHHOCTH
KOMIIeTeHIH U

KomrmereHnumu Qakriuuecku He
c(hopMHUpPOBAHEL.

Nmeromuxcs 3HaHUM, yMEHUI,
HABBIKOB HEJJOCTATOYHO IS
peLICHHs MPAKTUIECKUX
(mpodeccroHaNbHBIX) 3a/1a4.

N

3aueTHOE KOJIMYECTBO 0aIJIOB HE
HAOPaHO COTJIacHO
YCTaHOBICHHOMY [HMAaIla30Hy

CdhopMUpOBaHHOCTH KOMITETCHIIAIH
COOTBETCTBYET MHHUMAIIEHBIM
TpeOOBaHUIM.

Nmeromuxcs 3HaHUM, yMEHUH,
HaBBIKOB B IIEJIOM JIOCTaTOYHO JIJIS
pCIICHHS TPAKTUICCKUX
(mpodeccruoHANBHBIX) 3a1au.

i
Habpano 3aueTHOE KOTMYECTBO OAIIOB
COTJIACHO YCTAaHOBJICHHOMY THAITA30HY

ChopMUPOBaHHOCTH KOMITETCHIIAN B
IIEJIOM COOTBETCTBYET TPEOOBAHMSIM.
Nmeromuxcs 3HaHUM, yMEHUI,
HaBBIKOB JOCTAaTOYHO ISl PEILICHUS
CTaHIAPTHBIX PO ECCHOHATHHBIX
3ajad4.

nin
Habpano 3adueTHOE KOJIMUECTBO OaIOB
COTJIACHO YCTaHOBJICHHOMY THAINTAa30HY

ChopMupoBaHHOCTH KOMIIETSHITHHA
TTOJTHOCTBHIO COOTBETCTBYET
TpeOOBAHUAM.

Nmeromuxcs 3HaHUM, yMEHH, HAaBBIKOB
B [IOJIHOM Mepe AOCTAaTOYHO IJIs
pelIeHUs CJIOKHBIX, B TOM UHCIIE
HECTaHJAPTHBIX, MPO(ECCHOHATEHBIX
3amad.

nin

Habpano 3adeTHOE KOIHUECTBO OaIIOB
COTJIACHO YCTAaHOBJICHHOMY JHMAIa30HYy




3. Kpurepuu 1 mkaJjia OHeHUBAHUS 3aJaHUI TeKYIIEro KOHTPOJIs

3.1 Kpurepun v nikana OlCHHBAHWS MPAKTUIECKUX PAOOT
[Tepeyens npakThueckux pabOT, OMUCAHWE TOPSAKA BBIMOJHEHUS M 3alIUTHI PabOTHI,

TpeOOBaHUs K pe3yibTaTaM paboThbl, CTPYKTYpE U COJACPKAHUIO OTYETA U T.II. IPEACTABJICHBI B
METOJIMYECKUX MaTepHajax M0 OCBOSHHUIO JUCIUIUIMHBI (MOMAYJS) U B 3JEKTPOHHOM Kypce B
OUOC MAY.

Ounenka/0ajibl Kpurepuu onenuBanus

Omauuno 3amanne BBITIOJIHEHO MOJIHOCTBIO " MIPaBHUIIBHO. Otyer 110
1aboPaTOPHON/TIPAKTHYECKONH paboTe MOATOTOBIEH KaUYeCTBEHHO B COOTBETCTBHH C
TpeboBanusiMU. [10JTHOTa OTBETOB Ha BOMPOCHI MPEOIABATENS [P 3aI[UTe PaOOTHI.

Xopowo 3ajanne BBIMOJIHEHO TOJHOCTBIO, HO HET IOCTATOYHOTO OOGOCHOBAaHMSA WM IIPH
BEPHOM pELICHUH JIOMyIIeHA He3HAYWTeNbHas OIMUOKa, He BIUSIONas Ha
MPaBIIBHYIO MOCIIEI0BATEILHOCTh pacCyxaeHuii. Bce TpeOOBaHuUs, MPEABbIBIAECMbIC
K paboTe, BBIMOJIHCHBI.

Yooenemeopumensno | 3amaHus BBHIIOMHEHBI YAaCTUYHO C OMMOKamMH. J[eMOHCTpHpYeT CpelHHil ypOBEHb
BBIITOJTHEHHS 3aJaHUs Ha J1a0OpaTOpHYIO/TpakTHYecKyro pabory. BompmmHCTBO
TpeOOBaHM, IPEIBSIBISIEMBIX K 33/1aHHIO, BBHITOJIHEHBL.

Heyoosenemeopumenwvn | 3anaHue BBINOIHEHO CO 3HAYUTEILHBIM KOJMYECTBOM OIIMOOK HAa HU3KOM YPOBHE.
o Mmuorue Tpe6OBaHl/Iﬂ, PpEaABABIIACMBIC K 3aJaHUTIO, HE BBITIOJIHCHBI.
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3amaHne He BBITOJIHEHO.

3.2 Kputepuu u nikaja OleHUBAHUS TECTUPOBAHUS

IlepeyeHb TECTOBBIX BOINPOCOB M 3aJlaHWi, OMUCAHHWE MPOLEAYPbl TECTHUPOBAHUS
MPEACTABICHBl B METOJWYECKUX MaTepuajax I0 OCBOCHHUIO ITUCHHUIUIMHBI (MOIYyJsi) U B
31ekTpoHHOM Kypce B DMMOC MAY.

B ®OC BKkIIOYEH THUIOBOM BapUaHT TECTOBOTO 3a1aHUS:

1. The odd one out

Circle the word that does not belong to the same field in each horizontal group:
business company society subsidiary

salary manager salesman employee

finance product research marketing

distributing  selling assembling  promoting

components  tools hardware strategy

end user customer client distributor

I1. Word definition

Which of the groups of three words that you identified above refer to the following
definitions?

people who buy goods Or SEIVICES......cccvieeriiieeiieeeiie e

types of commercial organiSations.............ecceeeeviereeeriienieeiieenieeneenens

different departments or functions............cceeveeeeiveerciieenciiecriee e

people who work inside a company.............ccceeeeeeciienieniieenienieeeene

activities that involve meeting Customers..........ccceeeevveercveeerveeernees weee

products that can be Sold...........ccceeriieiiieiieiiiieeee e



II1. Adjectives of Nationality

Read the ten short passages. Below each one you will find a sentence which you
should complete using an adjective of nationality. Make sure that your sentences reflect the
information that is contained in the passage itself.

Packard Bell Electronics has already taken 10% of the US computer market and has
perform better, in some areas, than its two main national rivals Compaq and Apple. Compaq,
Apple and Packard bell are ....................

Nordak is currently recruiting a senior manager who will head up the UK office of its

first foreign subsidiary. Nordak is not of ...........coceiiiiiiiiiniiie origin.
The shares of Heineken NV reached a record level of 244.5 guilders yesterday on their
home market in Amsterdam, Holland. Heineken is a .........c.ccccceevvveennnnenn. company.

The 'Societe de Bourse Franchise' publishes an annual guide to the 120 biggest national
companies whose shares are sold on the Paris exchange. The Paris exchange sells the shares of
the 120 biggest ........ companies.

Coroll have received several enquiries from companies who are interested in representing
products in Spain. However, for the time being they have no intention of expanding into that part
of Europe. Coroll has no plans to enter the ............ccceevvieeiieeniiienieeceee, market.

IV. Advertising slogans
Read the slogans and match them with the products or institutions for which you
think they were actually used.

Get into our bed and sleep better ................... a. cosmetic cream

Down under: it's home to us .........ccceeeeeeennee. b. ‘Nordic ski’ exerciser
Would Mrs O'Brien trust her precious soles to just anyone. c. Australian airline company
I went to work and left my wrinkles at home ................... d. socks

Waist disposal unit................... €. matress

V. Word-Field matching
Circle the word that does not belong in to the field in each horizontal group.

1 promotion export pricing packaging

2 clause client contract brochure

3 slogan fee money pay

4 star executive actor celebrity

5 to endorse to afford to promote to support

6 computer television commercial advertisement
7 publicity image reputation agent

8 to plummet to fall to rise to drop




VI. Compounds
Match the words on the left with the words on the right to make compound nouns

which are commonly used in advertising.

shops.

shops.

market a. audience
mass b. time
target c. media
direct d. symbol
status e. research
sales f. mail
prime g. promotion
VII. Do or Make

Complete the following sentences with the correct form of make or do.

Store managers ...decisions about which products to keep and which ones...away with.
Although that company has almost the same name as ours, we have nothing ....with them.
You should ....... certain that the customers are always satisfied.

In many cases, it .... sense to stock original products that cannot be found easily in other

He....... a living as store manager for over 30 years and does not plan to retire yet.
Could you .... me a favour and work the morning shift?
...................... workers redundant is never an easy task for a manager.

VIII. Prepositions

Fill in the blanks below with the correct prepositions.

Although Leila is young, she is already successful.................... business.
It is necessary.................... us to improve our after-sales service.

Is your computer compatible ...........cccc.eee. mine?

The customers are very critical .................. some of the products we sell.
We must be attentive .........cceceeveeverieneenne. the needs of our customers.

1. Our customers are fond .....the 'personal touch' that we try to emphasise in each of our

IX. Business expressions
Match a word from each of the columns below to form expressions that could be

used to replace the words in italics in sentences. Write the answers in the space provided
after each sentence.

VERBS
1 check 6 raise
2 provide 7 change
3 move 8 withdraw
4 pay 9 earn
5 order 10 issue
NOUNS
a capital f the bill
b cash g interest
c foreign h a statement



money
d funds 1 shares
e aloan ] balances

In order to increase financial resources the company intends to sell units of its capital on
the StOCK MATKEL.......ccuiiiiiiiieci s et

Nowadays it is possible to transfer money between different accounts using an electronic
banking system installed in your home. ...........cccccoeviiiiiiiniiniiinieeiee,

My bank has agreed to give me the money I need, repayable over three years, to help me
get the business started. .........cccoeeeeriieiieniieie e

It doesn't matter if the banks are closed when I arrive because I'm sure that at the hotel in
Zurich I'll be able to convert some dollars into Swiss Francs. ..........cccoeeeeeeevieeciienieeneennen.

X. Company’s performance assessment

Read the following authentic newspaper headlines and decide in each case whether
they reflect a good (+), average (o) or poor (-) performance of the company's shares on the
Stock Exchange.

Matsushita expects Y85bn profit boost..........................

Welpac dives to £1.2m 10SS........ooevviiiiiiiiiiiiiian.

Philips surges to £193m in third quarter.......................

Jump in Rhone-Poulenc income...............................

Bibby falls £10.7 into thered..................ooeiiiin..

Sumitono Metal Mining tumbles..............................

XI. Commonly confused words.
Circle the correct word in brackets in each of the following sentences.

This report examines the (relationship/relation) between education and the level of
development in Africa.

During the meeting, he made a brief (illusion/allusion) to the decline in exports to
Western Europe.

Austria has been (accepted/excepted) into the European Union.

Of the two proposals put forward, I prefer the (later/latter).

(Who's/Whose) responsible for consumer affairs in this company?

XII. Countable and uncountable nouns.

In each of the following sentences indicate with a tick (V) or a cross (X) whether the
noun in italics has been used correctly. If not, write the sentence out correctly in the space
provided.

Their training has been organised to cover basic communication skills..........c...cccceeenee.

Over the years our company has accumulated a lot of experiences in the field of laser
SCANNING tECHNIQUES. ... .eeeiiieeiiieeiiee et et e e et e e eee e et e e ettt eesabeeessbeesaseeesseeensseeensneeenseeennsneas

Our premises are located in the centre of Brussels. ........ccccovviieiiiiiiiniiiiiiieciee e

Businesses were especially good last quarter and this will affect our profits for the year...

The datas show a fall in the number of fatal accidents. ...........cccoecviiiieniiiiiiniiiiieeeee

Kurou:

Ne OtBer
|

1 society
2 salary




has been making/has made

do

3 product
4 assembling
5 strategy
6 distributor
11

1. 6

2. 1

3. 3

4, 2

5. 4

6. 5

111

1. American
2. British

3. Dutch

4, French

5. Spanish
IV.

1. e

2. C

3. d

4, a

5. b

V.

I. export

2. brochure
3. slogan

4, executive
5. to afford
6. computer
7. agent

8. to rise
VI.

1. le

2. 2c

3. 3a

4, 4f

5. 5d

6. 6g

7. 7b

VII.

1. make, to do
2. to do

3. make

4. makes

5.

6.

7.

To make/Making

<
—
—
—




1. in
2. for
3. with
4. of
5. to
6. of
IX.
1. 1j
2. 2f
3. 3d
4. 4f
5. Sh
6. 6a
7. 7c
8 8b
9. 9¢g
10. 101
1. raise capital/issue shares
2. move funds
3. provide a loan
4. change foreign money
X.
1. +
2. -
3. +
4. +
5. -
6. -
XI.
1. relationship
2. allusion
3. accepted
4. latter
5. Who's
XI1I.
1. \
2. X experience
3. \%
4. X Business
5. X data
OueHka/6anbl Kpurtepuu ouenku
Omauuno 90-100 % npaBUIBHBIX OTBETOB
Xopowo 70-89 %  mpaBHIBHBIX OTBETOB
Yooenemeopumenvno | 50-69 %  mpaBUWIBHBIX OTBETOB

Heyooenemeopumenvno

49% u MeHbllle IPaBUIbHBIX OTBETOB

Kputepun u nikana oleHMBaHKs TOCENIAEMOCTH 3aHATHI




Ilocenienue 3aHATHI O6y‘-IaIOI_I_II/IMI/IC$I OMPCACIIICTCA B IIPOLCHTHOM COOTHOIICHUN

Bajibl Kpurtepuu oueHku
10 nocemaemocts 75 - 100 %
5 nocemaeMocts 50 - 74 %
0 nocemaeMoctsh menee 50 %

4. Kputepyu W mMKaJa OUEHUBAHHMS Pe3yJbTATOB O00y4YeHHS] MO JAUCHMILUIUHE
(MoayJ110) IPU NMPOBeleHUH NPOMEKYTOYHON ATTeCTAlNN

K[!HTC[}I/II/I Y IIKaJ1a OIICHWBAHUS PE3YIbTATOB OCBOCHUA NUCIUIUINHEI (MOJYJIS )

C 3aYETOM C OIIEHKON

Ecmm 06yqafomm710>1 Ha6pan 3a4ETHOE KOJIUYECTBO 0ajjI0B COIVIACHO YCTAHOBJICHHOMY
AUaIa3oHy 1o JAUCHUIIINHC (MOI[yJ'IIO), TO OH CUHUTACTCA aTTCCTOBAHHBLIM.

Ouenka Bajibl KpuTepun oueHnBanust

Ha6paH0 3a4€THOE KOJUYECTBO OAJIJIOB COTJIACHO
YCTAaHOBJICHHOMY JJUAIIA30HY

3aumeno 60 - 100

3a4eTHOE KOJIMYECTBO COTJIACHO YCTaHOBJICHHOMY

Hezaumeno MmeHee 60
Jrana3oHy 06ajioB He HaOpaHO

5. 3ajaHusi QMATHOCTHMYECKOW pPaldoThbl AJIsi OLEHKH pPe3yJbTATOB O0y4YeHHUS IO
AUCHHUILIMHE (MOIYJII0) B paMKaxX BHYTPEHHell U BHelIHeill He3aBUCHMO# OLleHKH KadecTBa

oOpa3oBaHus

®@OC conmepxuT 3agaHusl Uil  OLEHUBAHUS 3HAHUM, YMEHHH U  HABBHIKOB,
JEMOHCTPUPYIOIIUX YpOBEHb C(OPMHUPOBAHHOCTH KOMIIETEHIIMH W MHIUKATOPOB HUX
JOCTHIKEHHSI B ITPOLIECCE OCBOCHUS AUCLUIUIMHBI (MOAYJIS).

Kommuiekt 3amanuii pa3paboTaH TakuM 00pa3oM, 4YTOOBI OCYIIECTBUTH MPOIEAYPY
OILICHKH KaKJOW KOMMETCHIHH, (OPMUPYEMBIX NUCHUIUTMHON (MOAyJEeM), y O00ydaromierocs B
MUCBbMEHHOU (hopMme.

CopneprxaHne KOMIUIEKTA 33/1aHUI BKIIIOYAET: mecmosbie 3a0aHUs.

KoMmuiekT 3aanunii J7MAarHOCTHYECKOH PadoThI

VYK-4 CnocoGeH oCcylecTBISITh ASTOBYI0 KOMMYHHUKAIUIO B YCTHON U MUCbMEHHON (Qopmax
Ha rOCYJapCTBEHHOM si3bIke Poccuiickoit @enepanyu 1 ”HOCTpaHHOM(BIX) S3bIKe(aX)

VYK-5 CnocobeH BocnpUHMMATh MEXKKYJIBTYPHOE pa3sHOOOpa3ue oOIecTBa B COLUAIBHO-
HCTOPUYECKOM, ITUYECKOM U (pritocohckoM KOHTEKCTaxX

I BapuanT

SOME FACTS ON THE DEVELOPMENT OF THE NUMBER SYSTEM

A Counting represents a very important milestone in the progress of civilization. Of

course there were no number names at first; so counters were used. For counters man used sticks,



pebbles, his fingers, and in some instances, his toes also. In fact the word calculus comes from

the Latin, meaning pebble; our numerals are called digits from the Latin, meaning finger.

B It is possible to mention only a few important achievements in the history of
mathematics. Historical records give evidence of the astronomical and arithmetical achievements
of the early Babylonians, Sumerians, and Chinese. Somewhere in the distant past man learned
that number was useful for civilized living. As early as 5,700 B.C. predecessors of the

Babylonians had calendar and a type of practical arithmetic.

C Only about 300 years ago a great mathematician and philosopher, Rene Descartes
(1596-1650), represented number pairs by points. This creation made possible the great advance
in science and mathematics during the eighteenth century. In 1642 one of the greatest minds of
all time Isaac Newton was born (1642-1727). Newton was one of the inventors of the calculus
which is now studied by college students who are seriously interested in mathematics or physical

science.

D Like Archimedes, Galileo, Copernicus and Newton, Lobachevsky (1792-1856) is one
of those who laid the foundations in science. Lobachevsky created one of the greatest

masterpieces of mathematics — non-Euclidean geometry.

E Our number system uses only the symbols 0, 1, 2, ... 9; it has base ten and positional
notation. Thus any integer can be expressed with these symbols in various combinations and
arrangements. The base of our system is ten. Ten is probably the base because we have ten

fingers and the fingers were used in the early stages of counting.

F It is not known when or by whom zero (nought) was invented. Historians thinks that
zero was introduced by the Hindus or the Babylonians not later than in the ninth century A.D.
and probably as early as the second century B.C. The invention of zero and our number system is
one of the greatest achievements of the human race, without which the progress of science,
industry, and commerce could be impossible. This new system was introduced in Europe by
Arabs, or Moslems, at about the beginning of the tenth century. These new numbers were used,

and finally, after about five centuries, the decimal system won the battle.

milestone — Bexa masterpiece — meaeBp

pebble — ranpka, OyJIBDKHUK

Buioepume omeem, coomeemcmeyoujuii cooepicanuro mexcma

1. 3mun, YK-4, I1K-3) What was the turning point in the development of civilization?




A ... the development of geometry C ... binary system of notation

B ... counting D ... the invention of a wheel

3asepuiume npeonorcenue 6 coomeencmeuu ¢ OCHOGHOIU memoil adzaya
2. (3mun, YK-4, I1K-3) The passage F is about
A ... the development of counting in Europe
B ... the progress in Hindus industry
C ... the spreading of the knowledge about number zero round the world
D ... the Babylonians
Onpeodenume, 6 Kakom aozaye cooouiaemcs

3. (3mun, YK-4, I1K-3) 0 ToM, 94TO B APEBHOCTHU JIFOJIA HMCIIOIB30BAIN ISl CUETa HE MUQPHI, a

IIaJI04YKH, KaMCIIKH U T.II.

4. (Bmun, YK-4, IIK-3) Buwioepume npeonosicenue, coomeemcmeynuiee cooeprHcanuro

mexcma.
A Newton was the first who represented number pairs by points.
B It is well known when and by whom zero was invented.
C The Latin word calculus means sticks.

D One of the important achievements in the history of mathematics was the creation of

non-Euclidean geometry.
Ilpouumaiime nauano npeodnoxcenus u gploepume e2o RPOOOJIHCEHUE
5. (3mun, YK-4, [1K-3) The base of our system is ten because
A ... early Chinese used ten as the base for counting
B ... ten fingers were used in the early stages of counting
C ... Archimedes introduced this number

D ... mathematicians found this number very useful




Coomnecume oamnHbvle ymsep;»cdenu;l Cc coomeemcmeyrouiumu a63auamu meKkcma

(A, B, C, D, E unu F)
6. (3mun, YK-4, IIK-3) Ten numeration system came to Europe at about 10th century.
7. (3mun, YK-4, I1K-3) The modern form of calculus was invented by Newton.
8. (3muH, YK-4, IIK-3) At first numbers had no names.
9. (3mun, YK-4, I1K-3) The word digit came from Latin.
10. (3mun, YK-4, I1K-3) A point can be represented by a pair of numbers.

3amenume cnoso, 0annoe 8 CKOOKax, AH2AUNCKUM IKGUBATICHNIOM

11. (2 mun, YK-4, [IK-3) (dpoOu) like % represent values less than one.

12. (2 mun, YK-4, [IK-3) If (mHOXecTBa) contain the same elements in exactly the same order

they are equal.

13. (2 mun, YK-4, I1K-3) (Cnoxenue) is the reverse operation of (Berautanmsi).

14. (2 mun, YK-4, I1IK-3) Two number lines are intersected to form a coordinate (TIOCKOCTB).
15. (2 mun, YK-4, I1K-3) ([yra) is a curved segment of a circumference.

16. (2 mun, YK-4, I1K-3) To find the value of the (mepemennas) we should solve the equation.

17. (2 mun, YK-4, TIK-3) The chess-board Geometric Progression is an (Bo3pacTaroras)

progression.
18. (2 mun, YK-4, I1K-3) The common (cootHomenue) of a progression may be negative.
19. (2 mun, YK-4, I1K-3) The (u3mepenus) are to be as precise as possible.

20. (2 mun, YK-4, [IK-3) A (Tpeyronbhuk) is a plane figure founded by three straight lines and

containing three angles.

21. (2 mun, YK-4, T1K-3) You can check (nmenenue) by (yMHOXeHUEM).
Bcmasvme ghopmy cxazyemozo

22. (2 mun, YK-4, [IK-3) Mike came when | the equation.

23. (2 mun, YK-4, T1K-3) He just a square.




24. (2 muH, YK-4, IIK-3) We a chord as a line whose endpoints are the points of a

circumference.

25. (2 mun, YK-4, I1K-3) Newton a professor of mathematics in 1669.

26. (2 mun, YK-4, [IK-3) Listen, she the second proof of this theorem now.

27. (2 mun, YK-4, IIK-3) Polynomials always more than one term.

28. (2 mun, YK-4, [IK-3) She just the result.

29. (2 mun, YK-4, IIK-3) The teacher about the features of plane figures now.

30. (2 mun, YK-4, IIK-3) Lobachevsky non-Euclidean geometry in the 19" century.
31. (2 mun, YK-4, I1K-3) The student used this theorem while he the problem.

3amenume Mo0anbHbBLIL 212071 IKEUBATIEHMOM
32. (2 mun, YK-4, T1K-3) He must prove this statement.
33. (2 mun, YK-4, I1K-3) She can give the definition of closure.
Ynompeoume coomeemcmeyrouyio cmenensv cpagnenus
34. (2 mun, YK-4, I[1K-3) He met his friend yesterday. (good)
35. (2 mun, YK-4, TIK-3) Public transport in London is (expensive) than in Paris.
Ilepeseoume npeonosncenusn

36. (2 mun, YK-4, IIK-3) The man standing at the desk is my research adviser.
37. (2 mun, YK-4, [1K-3) They expect to be given complete information by Friday.
38. (2 mun, YK-4, IIK-3) The problem being easy, the students solved it at once.
39. The problem is likely to be solved.

ITocmasvme cnosa é npasunibHom nopsaoke

40. (2 mun, YK-4, T1K-3) the news — yesterday — saw — television — [ — on

KJIFOYMU I Bapuanr:



1 B/2 C/3 A/4 D/5 B/6 F/7T C/8 A/9 A/10 C/11fractions/12 sets/13 addition, subtraction/14
plane/15 an arc/16 unknown/17 increasing/18 ratio/19 measurements/20 triangle/21 division,
multiplication/22 was solving/23 has drawn/24 define/25 became/26 is giving/27 contain/28 has
checked/29 is speaking/30 developed/31 was solving/32 has to/33 is able to/34 best/35 more
expensive/36 YenoBek CTOAmMA y cTojla — MOM HayudHbBld pykoBoguTenb. /37 OuHu
PacCUUTHIBAIOT HA TO, YTO MM JJYT IMOJHYIO WHpOpMaIuio K nsatHuie. /38 [lockonbky 3aqada
ObLIa JIETKOM, CTYyACHTHI penmmin e€ cpasy. /39 BepositHo, 3agauy pemrar. /40 Yesterday I saw

the news on television.

II Bapuaunr

THE DIFFERENTIAL CALCULUS

A The differential calculus is concerned with rates of change. In practical life we
constantly come across pairs of quantities which are related, so that after both have been
measured, when we know one, we know the other. Thus if we know the distance along a road
from a fixed point we can find the height above sea level from a map with contours. If we know
the time of day we can determine the air temperature on any particular day from a record of a
thermometer made on that day. In such cases we often want to know the rate of change of one

relative to the other.

B If x and y are the two quantities, then the rate of change of y to x is dy/dx. For example
if x is the distance of a point on a railway from London, measured in feet, and y the height above
the sea level, dy/dx is the gradient of the railway. If the height y increases by 1 foot while the
distance x increases by 172 feet, the average value of dy/dx is 1/172. We say that the gradient is
1in 172.

C The mathematical part of the calculus is the art of calculating dy/dx if y has some
mathematical relation to x, for example is equal to its square or logarithm. The rules have to be
learned like those for the area and volume of geometrical figures, and have the same sort of
value. No area is absolutely square, and no volume is absolutely cylindrical. But there are things
in real life like enough to squares and cylinders to make the rules about them worth learning. So
with the calculus it is not exactly true that the speed of a falling body is proportional to the time

it has been falling. But this is close enough to the truth for many purposes.

D The differential calculus goes a lot further. Think of a bus going up a hill which
gradually gets steeper. If x is the horizontal distance, and y the height, this means that the slope



dy/dx is increasing. The rate of change of dy/dx with regard to y is written d” y / dx’. In this case
it gives a measure of the curvature of the road surface. In the same way if x is time and y
distance, d” y / dx’ is the rate of change of speed with time, or acceleration. This is a quantity
which good drivers can estimate pretty well, though they do not know they are using the basic

1deas of the differential calculus.

E If one quantity depends on several others, the differential calculus shows us how to
measure this dependence. Thus the pressure of a gas varies with the temperature and the volume.
Both temperature and volume vary during the stroke of a cylinder of a steam or petrol engine,

and the calculus is needed for an accurate theory of their action.

contours — 2eode3. TOPU30HTAIb slope - ykiioH
gradient — rpaiueHT, YKIOH estimate - OIlCHUBATH
steeper — OoJiee KpyTOu stroke — xo11

Buibepume omeem, coomeemcmeyouuil cooeprcanuio mekcma
1. (3 mun, YK-4, [IK-3) What is the purpose of differential calculus?
A ... to measure the dependence on other disciplines
B ... to find the value of one unknown
C ... to calculate related quantities
D ... to calculate the product of two quantities
3asepuwiume npeonorcenue 6 coomeenmcmauu ¢ OCHOBHOIU memoil adzaya
2. (3 mun, YK-4, [IK-3) The passage A is about
A ...the applying differential calculus to our everyday life problems
B... the way of finding the height above the sea level
C... the way to determine the air temperatures

D ... the formulas used for differential calculus usage




Onpeodenume, ¢ Kakom ad3aye cooduyaemcsa
3. (3 mun, YK-4, IIK-3) o Tom, uyto auddepeHIranbHble BBIYMCICHUS CTOUT HW3ydaTh,

IMOCKOJIBKY OHHU UMCIOT INUPOKOC MPAKTUICCKOC ITPUMCHCHUC.

4. (3 mun, YK-4, T1IK-3)  Bwioepume npeonorcenue, coomeemcmeyouiee coOepiHcanuio

mexcma.
A Differential calculus deals with constant values.
B Differential calculus deals with one or more dependant values.
C Differential calculus deals with two or more independent values.
D Differential calculus deals with two values only.
Ilpouumaiime nauano npeonoxcenus u gploepume e2o RPOOOJIHCeHUE

5. (3 mun, YK-4, TIK-3) Differential calculus is applicable to know ...

A ... the Cartesian product. C ... the radius of a circle.
B ... the difference of two or more values. D ... the rate of change of one related value to
the other.

Coommnecume OanHbvle YMEEPHCOCHUA C COOMBEMCMEYIOUWUMU ad3ayamu mekcma (A,

B, C,Dunu E)

6. (3 mun, YK-4, IIK-3) Using differential calculus we can find out the dependence between the

volume and the temperature of gas inside an engine.

7. (3 mun, YK-4, [IK-3) We can find the rate of change of related numbers by the formula
dy/dx.

8. (3 mun, YK-4, I[IK-3) We often deal with two related quantities in our everyday life.

9. (3 mun, YK-4, [IK-3) The usage of differential calculus in our everyday life is like the usage

of our knowledge about volumes of geometric objects.

10. (3 mun, YK-4, TIK-3) Sometimes people use the basic ideas of the differential calculus

without realizing this fact.

3amenume CJ1060, oannoe 6 c1<061<ax, AH2TUTUCKUM IKGUBATICHIOM




11. (2 mun, YK-4, IIK-3) A (tpeyronbhuk) is a plane figure founded by three straight lines and

containing three angles.
12. (2 mun, YK-4, IIK-3) (dpobu) like % represent values less than one.
13. (2 mun, YK-4, IIK-3) The common (cooTHorienue) of a progression may be negative.

14. (2 mun, YK-4, T1IK-3) If (mHOXecTBa) contain the same elements in exactly the same order

they are equal.
15. (2 mun, YK-4, I[IK-3) You can check (nenenue) by (yMHOXEHHEM).
16. (2 mun, YK-4, [1K-3) (Cnoxenue) is the reverse operation of (Berauranus).

17. (2 mun, YK-4, TIK-3) The chess-board Geometric Progression is an (Bo3pacrtaromiasi)

progression.

18. (2 mun, YK-4, I[IK-3) Two number lines are intersected to form a coordinate (II0CKOCTB).
19. (2 mun, YK-4, [IK-3) (Hyra) is a curved segment of a circumference.

20. (2 mun, YK-4, I[IK-3) To find the value of the (mepemennas) we should solve the equation.
21. (2 mun, YK-4, I[IK-3) The (u3mepenusi) are to be as precise as possible.

Bcmasvme ¢popmy cxazyemozo

22. (2 mun, YK-4, T1K-3) She just the result.

23. (2 mun, YK-4, I1K-3) The teacher about the features of plane figures now.

24. (2 mun, YK-4, T1K-3) Mike came when I the equation.

25. (2 mun, YK-4, TIK-3) We a chord as a line whose endpoints are the points of a
circumference.

26. (2 mun, YK-4, I1K-3) He just a square.

27. (2 mun, YK-4, I1K-3) Lobachevsky non-Euclidean geometry in the 19" century.
28. (2 mun, YK-4, [IK-3) The student used this theorem while he the problem.

29. (2 mun, YK-4, [IK-3) Newton a professor of mathematics in 1669.

30. (2 mun, YK-4, [1IK-3) Listen, she the second proof of this theorem now.



31. (2 mun, YK-4, IIK-3) Polynomials always more than one term.
3amenume Mo0anbHbLIL 2142071 IKEUBATIEHIMOM

32. (2 mun, YK-4, I[1K-3) He must prove this statement.
33. (2 mun, YK-4, I1K-3) She can give the definition of closure.

Ynompeoume coomeemcmeyrouyro cmenens cpasnenus
34. (2 mun, YK-4, IIK-3) He met his friend yesterday. (good)
35. (2 mun, YK-4, I1K-3) Public transport in London is (expensive) than in Paris.

Ilepesedume npeonorcenusn
36. (2 mun, YK-4, [1K-3) The problem is likely to be solved.
37. (2 mun, YK-4, [1K-3) The man standing at the desk is my research adviser.
38. (2 mun, YK-4, IIK-3) The problem being easy, the students solved it at once.
39. (2 mun, YK-4, TIK-3) They expect to be given complete information by Friday.
Ilocmagvme cnoea ¢ npaguivbHom nopsaoke

40. (2 mun, YK-4, [1IK-3) the Institute — does — live — he — near?

KJIFOYM 11 Bapuant:

1 C/2 B/3 A/4 B/5 D/6 E/7 B/8 A/9 C/10 D/11 triangle/12 fractions/13 ratio/14 sets/15 division,
multiplication/16 addition, subtraction/17 increasing/18 plane/19 an arc/20 unknown/21
measurements/22 has checked/ 23 is speaking/24 was solving/25 define/26 has drawn/27
developed/28 was solving/29 became/30 is giving/31 contain/32 has to/33 is able to/34 best/35
more expensive/36 BeposaTHo, 3amauy pemar./37 UenoBek cTosuuil y cTojia — MO Hay4HBIN
pykoBoautenb./38 ITlockonbky 3amada ObuTa JIETKOHM, CTyACHTHI pemuiau e€ cpasy./39 Onu
PAcCUYMTBIBAIOT HA TO, YTO MM JaayT MOJHYI0 uHbopmanuio K nsitHuie./40 Does he live near the
Institute?
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